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Comprehension:

The following table shows the percentage (%) distribution of the number of students (Boys
and Girls) and the number of girls who are enrolled in five different games, namely, Basketball,
Soccer, Badminton, Cricket and Tennis, in a School during the session 2022-23. A total number of
6000 students are enrolled in all the five games in the school in which the number of girls is 3500.
Based on the data in the table, answer the questions that follow.

Game-wise Enrollment of students in a school

Percentage Distribution of
Game
Students Enrolled (Out of 6000) |  Girls Enrolled (Out of 3500)
Basketball 16% 14%
Soccer 21% 28%
Badminton 14% 16%
Cricket 29% 20%
Tennis 20% 22%

SubQuestion No : 1
Q1 What is the number of boys who are enrolled in the game Basketball ?

(1) 805

(2) 430

(3) 840

4y 470
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 5330721904
Option 1 ID : 5330727401
Option 2 ID : 5330727402
Option 3 ID : 5330727403
Option 4 ID : 5330727404

Status : Answered

Chosen Option: 3
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Comprehension:

The following table shows the percentage (%) distribution of the number of students (Boys
and Girls) and the number of girls who are enrolled in five different games, namely, Basketball,
Soccer, Badminton, Cricket and Tennis, in a School during the session 2022-23. A total number of
6000 students are enrolled in all the five games in the school in which the number of girls is 3500.
Based on the data in the table, answer the questions that follow.

Game-wise Enrollment of students in a school

Percentage Distribution of
Game
Students Enrolled (Out of 6000) | Girls Enrolled (Out of 3500)
Basketball 16% 14%
Soccer 21% 28%
Badminton 14% 16%
Cricket 29% 20%
Tennis 20% 22%

SubQuestion No : 2

How many boys are enrolled in Soccer and Tennis together ?

Q.2
(1) 610
(2) 640
(3 720
(4) 710
Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
5330721908
5330727417
5330727418
5330727419
5330727420
Answered

3




Comprehension:

Game-wise Enrollment of students in a school

Percentage Distribution of
Game
Students Enrolled (Out of 6000) | Girls Enrolled (Out of 3500)
Basketball 16% 14%
Soccer 21% 28%
Badminton 14% 16%
Cricket 29% 20%
Tennis 20% 22%

SubQuestion No : 3

Q.3
game of Tennis ?
(1) 340
(2) 370
(3) 390
(4) 320
Options 1. 1
2.2
3.3
4.4

The following table shows the percentage (%) distribution of the number of students (Boys
and Girls) and the number of girls who are enrolled in five different games, namely, Basketball,
Soccer, Badminton, Cricket and Tennis, in a School during the session 2022-23. A total number of
6000 students are enrolled in all the five games in the school in which the number of girls is 3500.
Based on the data in the table, answer the questions that follow.

What is the difference between the number of girls and the number of boys who are enrolled in the

Question Type :
Question ID :

Option 11D

Option 31D

Status

McQ
5330721905

: 5330727405
Option 21D :

5330727406

: 5330727407
Option 41D :

5330727408

: Answered
Chosen Option :

3




Comprehension:

The following table shows the percentage (%) distribution of the number of students (Boys
and Girls) and the number of girls who are enrolled in five different games, namely, Basketball,
Soccer, Badminton, Cricket and Tennis, in a School during the session 2022-23. A total number of
6000 students are enrolled in all the five games in the school in which the number of girls is 3500.
Based on the data in the table, answer the questions that follow.

Game-wise Enrollment of students in a school

Percentage Distribution of
Game
Students Enrolled (Out of 6000) | Girls Enrolled (Out of 3500)
Basketball 16% 14%
Soccer 21% 28%
Badminton 14% 16%
Cricket 29% 20%
Tennis 20% 22%

SubQuestion No : 4

Q4 Number of boys who are enrolled in Soccer is % of the number of boys who are enrolled
in all the five sports games.
(1 102
2 11.2
(3 122
4 132
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

MCQ
5330721907
5330727413
5330727414
5330727415
5330727416
Answered

3




Comprehension:

The following table shows the percentage (%) distribution of the number of students (Boys
and Girls) and the number of girls who are enrolled in five different games, namely, Basketball,
Soccer, Badminton, Cricket and Tennis, in a School during the session 2022-23. A total number of
6000 students are enrolled in all the five games in the school in which the number of girls is 3500.
Based on the data in the table, answer the questions that follow.

Game-wise Enrollment of students in a school

Percentage Distribution of
Game
Students Enrolled (Out of 6000) | Girls Enrolled (Out of 3500)
Basketball 16% 14%
Soccer 21% 28%
Badminton 14% 16%
Cricket 29% 20%
Tennis 20% 22%

SubQuestion No : 5

Q5 Number of boys who are enrolled in Cricket is approximately % more than the number
of students who are enrolled in Badminton.

(1) 21.79
(@ 2271
(3) 23.81
(4) 25.91

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 5330721906
Option 1 ID : 5330727409
Option 2 ID : 5330727410
Option 3 ID : 5330727411
Option 4 ID : 5330727412

Status : Answered
Chosen Option: 3

Q6 What are the advantages of using Cloud Computing word processing software ?
(A) The user does not have to install word processing software on the computer.
(B) The user does not have to allocate space to install software in the hard disk.

(C) Storage space to save the document is provided by the cloud provider. The user can open or
edit the document from any computer which has Internet facility.

(D) If the user has slow Internet connection, then he/she would not face any problems accessing
or downloading his/her documents.

Choose the correct answer from the options given below :
(1)  (A) and (B) Only

(2) (A)and (C) Only

(3)  (B), (©) and (D) Only

{4)  (A), (B) and (C) Only

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 5330721937
Option 11D : 5330727533
Option 2 ID : 5330727534
Option 3 ID : 5330727535
Option 4 ID : 5330727536

Status : Answered

Chosen Option : 2




Q.7 ChatGPT is an Al chatbot developed by OpenAlI and was launched in November 2022. What
does ChatGPT stand for ?

(1)  Chat Generative Pre-trained Transmission
(2) Chat General Pre-trained Technology

(3) Chat Generalized Pre-trained Technique
(4) Chat Generative Pre-trained Transformer

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721934
Option 1 ID : 5330727521
Option 2 ID : 5330727522
Option 3 ID : 5330727523
Option 4 ID : 5330727524
Status : Answered
Chosen Option : 2
Q.8 In the context of learning, which of the following DOES NOT represent the self concept ?
(1) It is what an individual feels about others.
(2) It is what an individual feels how others think/ perceive of him/her.
(3) Itis an awareness of the individual about his/her strengths.
(4) Itis an awareness of the individual about his/her weaknesses.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721910
Option 1 ID : 5330727425
Option 2 ID : 5330727426
Option 3 ID : 5330727427
Option 4 ID : 5330727428
Status : Answered
Chosen Option: 1
Q9 ‘I never teach my pupils; [ only attempt to provide the conditions in which they can learn’ is a
statement by :
(1) Swami Vivekananda
(2)  Albert Einstein
(3) Sri Aurbindo
(4) Aristotle
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721909
Option 1 ID : 5330727421
Option 2 ID : 5330727422
Option 3 ID : 5330727423
Option 4 ID : 5330727424
Status : Answered
Chosen Option: 1




Q.10 . —_
Who sends what to whom in a communication process ?

(A) Channel sends the message to sender.
(B) Sender sends messages to receiver.
(C) Sender sends the feedback receiver.
(D) Receiver sends messages to sender.
Choose the correct answer from the options given below :
(1) (A) Only
(2) (B) Only
(3) (A) and (D) Only
(4) (B) and (C) Only

Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 5330721922
Option 1 ID : 5330727473
Option 2 ID : 5330727474
Option 3 ID : 5330727475
Option 4 ID : 5330727476

Status : Answered

Chosen Option : 2

Q.11 If (L) represents a number L in base - M number system, then identify the correct descending
order of the following number A-D, when converted to base-10 number system.

(A) (9C)44

(B) (233)8

Q) (313);

(D) (10011110),

Choose the correct answer from the options given below :
1) (€, (D) (B), (A)

@ O, (©)(A) (B

3 (B, Q) (A) (D)

4) (D) Q). B, (A)

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 5330721936
Option 11D : 5330727529
Option 2 ID : 5330727530
Option 31D : 5330727531
Option 4 ID : 5330727532

Status : Answered

Chosen Option : 4




Q.12
Who invented the Printing process ?

(1) G.Marconi

(2) Tang Dynasty

(3) William Caxton

(4) Johannes Gutenberg

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 5330721920
Option 1 ID : 5330727465
Option 2 ID : 5330727466
Option 3 ID : 5330727467
Option 4 ID : 5330727468

Status : Answered

Chosen Option: 1

Q.13 According to UGC Regulations 2018 on plagiarism, a student’s registration in the Ph.D. Program
will be cancelled for which of the following similarities percentage in the thesis ?

(A) 37%

(B) 46%

(C) 58%

(D) 62%

(E) 78%

Choose the correct answer from the options given below :
1) (A), (B) (O, (D) Only

@ (®), (© (D), (B Only

() (O, (D) and (E) Only

(4) (D) and (E) Only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 5330721917
Option 1 ID : 5330727453
Option 2 ID : 5330727454
Option 3 ID : 5330727455
Option 4 ID : 5330727456

Status : Answered

Chosen Option : 4




Q.14

(A)
(B)
©
(D)

)
)
©)
(4)
Options 1. 1
2.2
3.3
4.4

Match List - I with List - IL

List - I List - I

(International Meetings) (Key objectives)

Kyoto protocol (I) Global warming
Montreal protocol (II) Biodiversity conservation
Rio Summit (III) Ozone depletion

Paris Agreement (IV) Solar Alliance

Choose the correct answer from the options given below :

(A)-(1), (B)-(ILL), (C}-(I), (D)-(IV)
(A1), (B)-(I1D), (C)-(D), (D)-(IV)
(A)-(), (B)-(D), (C)-(1V), (D)-(1D)
(AHIV), (B)-(ID), (O)-(D), (D)-(1ID)

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
5330721943
5330727557
5330727558
5330727559
5330727560
Answered

1

Q.15

1)
(2
(3)
4
Options 1. 1
2.2
3.3

4.4

‘A’ takes twice as much time as ‘B’ to complete a work and 'C’ does it in the same time as both ‘A’
and ‘B’ together do it. If all three of them work together and complete the work in 5 days, then the
time taken by ‘B" to complete the work alone is :

12 days
14 days
15 days
18 days

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ
5330721924
5330727481
5330727482
5330727483
5330727484
Answered

3




Q.16 \hich of the following is concerned with the question whether the measure of a concept truly
represents that concept ?
(1) internal validity
(2) external validity
(3) construct validity
(4) transferability

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721915
Option 11D : 5330727445
Option 2 ID : 5330727446
Option 3 ID : 5330727447
Option 4 ID : 5330727448
Status : Answered
Chosen Option: 3
Q.17 Which of following are the parts of AYUSH undergraduate education ?
(A) Siddha
(B) Sowa - Rigpa
(©) Yoga-Shastra
(D) Homoeopathy
(E) Sanjeevani
Choose the correct answer from the options given below :
(1) (A), (B) and (E) Only
(2 (B), (C) and (D) Only
(3 (A), (B) and (D) Only
(4)  (A), (C) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721948
Option 11D : 5330727577
Option 2 ID : 5330727578
Option 3 ID : 5330727579
Option 4 ID : 5330727580
Status : Answered
Chosen Option : 4




Q.18

Arrange the following fraction in decreasing order :

(A)

(D)

12
19
7
12
11
17
¥
28

Choose the correct answer from the options given below :

(1)
2
(3)
(4)

Options 1. 1

2.2
3.3
4.4

(A), (B) (©), (D)
©), (A) (D), (B)
(B). (), (D), (A)
(D). (A), (B), (C)

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

McQ

5330721926
5330727489
5330727490
5330727491
5330727492

: Answered
Chosen Option :

3

Q.19

What can be inferred from the following ?
“Because x=3 and y=5, then x+y=8"
[tisa:

(1)
(2)
(3)
4)

Options 1. 1

2.2
3.3
4.4

Deductive argument based on elimination
Deductive argument based on Mathematics

Inductive argument from Authority

Inductive argument from Principle of Charity

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
5330721929
5330727501
5330727502
5330727503
5330727504
Answered

2




Q.20 Arrange the following gases in ascending order of their global warming potential (GWD).

(A) CO,
(B) CH,
(C) SF,
(D) CFC-11
(E) N,O
Choose the correct answer from the options given below :
1) (@A) (B) (C), (B), (D)
@ (A (B) (B), (D), (©)
(3) (B (© (A), (E), (D)
@) (A), (E) (B), (D), (O
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721941
Option 1 ID : 5330727549
Option 2 ID : 5330727550
Option 3 ID : 5330727551
Option 4 ID : 5330727552
Status : Answered
Chosen Option : 2
Q.21 Based on the source of their food, organisms occupy a specific place in the food chain, known as :
(1)  Trophic level
(2) Standing crop
(3) Top level organism
(4) Species level
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721939
Option 11D : 5330727541
Option 2 ID : 5330727542
Option 3 ID : 5330727543
Option 4 ID : 5330727544
Status : Answered
Chosen Option : 1
Q.22 Survey research on a single, case with a view to revealing important features about its nature,
corresponds to which of the following research designs ?
(1) Cross - sectional
(2) Longitudinal
(3) Case study
(4) Comparative
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721914
Option 11D : 5330727441
Option 2 ID : 5330727442
Option 3 1D : 5330727443
Option 4 ID : 5330727444
Status : Answered
Chosen Option : 2




Q23 Match List - I with List - IL

List -1 List - I1
(Communication terms) (Features)
(A) Effective verbal communication (I)  Knowledge and skills
(B) Effective communication (I)  Insufficient knowledge
(C) Effective non-verbal communication  (III) Effective speaking
(D) Barrier of communication (IV) Body language

Choose the correct answer from the options given below :

D A1, (B-(ID), (OIV), (D)-(I)
2 (A1), (B)-(I), ©)-@), (D)-(IV)
@) (A)-1), (B)-(I), (O, (D)-(IV)
@) (A)-Im), (B)-(I), (O-(1V), (D)-(II)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721923
Option 11D : 5330727477
Option 2 ID : 5330727478
Option 3 ID : 5330727479
Option 4 ID : 5330727480
Status : Answered
Chosen Option : 4
Q.24
Match List - I with List - I11.
List - 1 List - I1
(Word) (Unique Code)
(A) PRIME 0 69
(B) SIGHT (am 72
(C) QUITE (1) 63
(D) RHYME (V) 61
Choose the correct answer from the options given below :
(1) (AD, (B)-(I1), (O)-(11), (D)-(IV)
(2 (A, (B)-(), (C)-(IV), (D)-I)
(3)  (A)-(IV), (B)-(III), (C)-(1I), (D)-(I)
(4) (A, (B)-(IV), (O)~(D), (D)-(II)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721928
Option 1 ID : 5330727497
Option 2 ID : 5330727498
Option 3 ID : 5330727499
Option 4 ID : 5330727500
Status : Answered
Chosen Option: 3




Q.25

Which among the following is NOT a common pattern of Deductive Reasoning ?

Chosen Option :

(1) Hypothetical Syllogism
(2) Categorical Syllogism
(3) Argument from Definition
(4) Predictive Argument
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721930
Option 1 ID : 5330727505
Option 2 ID : 5330727506
Option 3 ID : 5330727507
Option 4 ID : 5330727508
Status : Answered
Chosen Option: 3
Q.26 Arrange the data sets with following pairs of mean (x) and standard direction (o) in increasing
order of their coefficient of variation.
(A) x=50,0=12
(B) x=550=10
€) x=60,0=14
D) x=70,0=15
Choose the correct answer from the options given below :
(1) (A). (B) (©), (D)
@ ® (D) @A)
3 © D) (A) (B
4 (D) (B) (A) (O
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721916
Option 11D : 5330727449
Option 2 ID : 5330727450
Option 3 ID : 5330727451
Option 4 ID : 5330727452
Status : Answered

1




Q.27 Which of the following correctly represent characteristics of teaching ?

(A) To provide guidance and training to students

(B) Inmteraction between authorities

(C) To provide formal and informal education

(D) An art to import knowledge to students in an effective way
(E) To prepare policies for corporate bodies

Choose the correct answer from the options given below :

(1) (A) and (B) Only

2 (A), (D) and (E) Only

(3) (A), (C) and (D) Only

(4) (O, (D) and (E) Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721911
Option 1 ID : 5330727429
Option 2 ID : 5330727430
Option 31D : 5330727431
Option 4 ID : 5330727432
Status : Answered
Chosen Option: 3
928 Match List - T with List - IL
List - 1 List - IT
(Type of variable) (Example)
(A) Nominal (I) Distance
(B) Ordinal (I) Marital status
(C) Interval (IIT) Movie ratings
(D) Ratio (IV) Location of places in Latitude degrees

Choose the correct answer from the options given below :
(1) (A)-(II), (B)~(ID), (O)-(1), (D)-(IV)

(2 (A1, (B)-(1D, (©O)-1), (D)-(V)

(3)  (A)-(IID), (B)~(IV), (O)~(IL), (D)-(T)

(4) (A)-(1D, (B)-(D), (O)-IV), (D)-(O)
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 5330721918
Option 1 ID : 5330727457
Option 2 ID : 5330727458
Option 3 ID : 5330727459
Option 4 ID : 5330727460

Status : Answered

Chosen Option : 3




A)
(B)

©
D)
M
]

&)
@

Q29 Natch List - I with List - 1L

Choose the correct answer from the options given below :
(A)-(ID), (B)-(T), (C)-(1M), (D)~(IV)
(A)-(II), (B)-(1I), (C)-(IV), (D)-(I)

-(IV), (B)-(LIL), (C)~(1), (D)-(IT)
(A)(Im), (B)-(), (C-(IV), (D)-(IT)

List-I List - II

(Term/concept) (Description)

Upanaya (I)  The knowledge of Paksadharmati as qualified by Vyipti

Paramarsa (II) The invariable relation or association of the Middle term in the
minor term

Vyapt (IlT) The application of the universal concomitance to the present
case

Paksadharmata (IV) The invariable association of the middle term with the major
term

A
B)
Q)
D)

— — — —
e

(1)
(2)
(3)
(4)
Options 1. 1
2.2

3.3
4.4

Match List - I with List - I1.

List - I

(MOOCs Quadrant)
Quadrant [ (I)
Quadrant I (IT)
Quadrant III (LIL)
Quadrant IV (IV)

List - II
(Component)
e-Tutorial
e-Content

Web Resources
Self Assessment

(A)-(D), (BI-(ID), (O)-(1), (D)-(1V)

(A)-D), (B-(IL), (CF(1), (D)

-(LV)

(A)-(1D), (B)-(IV), (C)-(0), (D)-(IIT)
(AHIV), (B)-(D), (C)-(ILD), (D)-(II)

Choose the correct answer from the options given below :

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721933
Option 11D : 5330727517
Option 2 ID : 5330727518
Option 3 ID : 5330727519
Option 4 ID : 5330727520
Status : Answered
Chosen Option : 2
Q.30

Question Type :

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

MCQ
5330721945
5330727565
5330727566
5330727567
5330727568
Answered

Chosen Option: 1




Q.31

(1) Rabindranath Tagore
(2) M.K. Gandhi

(3)  Sri Aurobindo

(4) Swami Vivekananda

“Education is the manifestation of perfection already in man” is a statement by :

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721913
Option 11D : 5330727437
Option 2 ID : 5330727438
Option 3 ID : 5330727439
Option 4 ID : 5330727440
Status : Answered
Chosen Option : 2
Q.32 Arrange the following themes of Sustainable Development Goals according to their goal number
in increasing order.
(A) Gender Equality
(B) Zero Hunger
(C) Peace and Justice
(D) Climate Action
(E) Quality Education
Choose the correct answer from the options given below :
1 ®), @), (A), ) ©
(@) (A). (B). (D), (C), (B)
@) (Q), (D), (A), (B), (B)
4) (B), (A), (B), D) (O
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721947
Option 11D : 5330727573
Option 2 ID : 5330727574
Option 3 ID : 5330727575
Option 4 ID : 5330727576
Status : Answered

Chosen Option :

1




Q.33 Arrange the following open Universities according to their year of establishment in Chronological
order (Older - New) :

(A) Yashwant Rao Chavan Maharashtra Open University
(B) Karnataka State Open University

(C) U.P. Rajarshi Tandon Open University

(D) Kota Open University

(E) Madhya Pradesh Bhoj Open University

Choose the correct answer from the options given below :
1 (A (B), ©), @) (F)

@ @) (A) E). (B) (O

() (B), (O (E) (A), (D)

@ (D) (A), B), (©) (B)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721944
Option 11D : 5330727561
Option 2 ID : 5330727562
Option 3 ID : 5330727563
Option 4 ID : 5330727564
Status : Answered
Chosen Option : 4
Q.34 . ; ; : :
Write the following types of communication in proper sequence :
(A) Group
(B) Public

(C) Mass communication

(D) Intrapersonal

(E) Interpersonal

Choose the correct answer from the options given below :
(1) (D), (E) (A), (B) and (C)

(2) (B, (D) (©), (B) and (A)

(3)  (A), (B) (O), (E) and (D)

) (B).(A) (O), (D) and (E)

= L R

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 5330721921
Option 1 ID : 5330727469
Option 2 ID : 5330727470
Option 3 ID : 5330727471
Option 4 ID : 5330727472

Status : Answered
Chosen Option: 1




Q.35 Devarshi Narada is treated as the first communicator, because :

(1) He always speaks against the others.
(2) Hereports from the spot, mediates among the parties and thinks for the betterment of society.
(3) He is not everywhere everytime.
(4) He is faithful to his lord.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721919
Option 11D : 5330727461
Option 2 ID : 5330727462
Option 3 ID : 5330727463
Option 4 ID : 5330727464
Status : Answered
Chosen Option : 2
Q.36 Match List - I with List - I1.
List-I List - I
(Initiatives in Higher Education) (Description)
(A) GIAN (I)  Translation of research knowledge into viable
technology (products and processes)
(B) IMPRINT-2 (II)  Achieve three Cardinal principles of Education policy
namely, access, equily and quality
(C) DIGILOCKER (Ill) Tap the talent pool of scientists and entrepreneurs
internationally
(D) SWAYAM (IV) Issuance and verification of documents and
certificates in a digital way
Choose the correct answer from the options given below :
(1) (A)-(U), (B)-(D), (C)-(1), (D)-(IV)
(2) (A1), (B)-(), (OH1IV), (D)-(IID)
(3)  (A)(D), (B}, (C)-(IT), (D)-(IV)
@ (A, (BHD, (QHIV), (D)D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721938
Option 11D : 5330727537
Option 2 ID : 5330727538
Option 3 ID : 5330727539
Option 4 ID : 5330727540
Status : Answered
Chosen Option : 4




List-I
(Learning style)
(A) Converger

(B) Diverger

(C) Assimilator

(D) Accomodator

(
B) (A, B)-0. (©)
O,

Q.37 Match List - I with List - IL.

List - 11
(Characteristic)

(I)  They are best at concrete experience and reflective observation.
Their strength is their imaginative ability They tend to be
interested in people and emotional elements.

(I) They are good at Abstract Conceptualization and Active
Experimentation like solving problems; practical application of
ideas.

(III) They enjoy and seek new experiences and adopt to new
situations; and are intuitive, risk-takers open minded.

(IV) Ability to create theoretical models; possess sound logic,
inductive reasoning, Analytic less interested in people.

Choose the correct answer from the options given below :
(1) (A)}(IV), (B)-(III), (C)(1D), (D)-(T)
(2)  (A)-(I), (B)-{ID), {C) {I), (D)-(IV)

), (D)-(1)

@) (A, (BRI, (O)- ( ) (D)-(IV)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721912
Option 1 ID : 5330727433
Option 2 ID : 5330727434
Option 3 ID : 5330727435
Option 4 ID : 5330727436
Status : Answered
Chosen Option : 4
Q.38 Where did nuns and monks meditate, debate and discuss with learned for their quest for knowledge ?
(1) Monasteries
(2) Basadis
(3)  Churches
(4) Ghatika
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721946
Option 11D : 5330727569
Option 2 ID : 5330727570
Option 3 ID : 5330727571
Option 4 ID : 5330727572
Status : Answered
Chosen Option : 4




Q.39

Which of the fD]an]'ng is not a primary air pD]lutant ?

(1) CO
2) NO
(3) Oy
(4) S0,
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721940
Option 11D : 5330727545
Option 2 ID : 5330727546
Option 3 ID : 5330727547
Option 4 ID : 5330727548
Status : Answered
Chosen Option : 3
Q40 njagch List - [ with List - IL
List - I List - 11
(Concept) (Description)
(A) Statement (I) A statement in an argument that is intended to be proved or
supported by the premises
(B) Premise (II) A sentence that can be viewed as True or False
(C) Conclusion (IIIy Group of statements intended to prove or support another
statement
(D) Argument (IV) Reason why we should accept another statement or conclusion
Choose the correct answer from the options given below :
(1) (A)-(H), (B, (C)-(11), (D)-(V)
(2 (A, B)-aV), (-0, (D))
(3 (A)-(IV), (B)-(I), (CH(I), (D)-(IID)
@) (A1, (B)-(II), (©)-(1V), (D))
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721932
Option 11D : 5330727513
Option 2 ID : 5330727514
Option 3 ID : 5330727515
Option 4 ID : 5330727516
Status : Answered
Chosen Option : 4




a4 What among the following can be claimed of Deductive argument correctly ?

(A) If the premises are true, then the conclusion is probably true.

(B) If the premises are true, then the conclusion must be true.

(C) It is unlikely for the premises to be true and the conclusion false.

(D) The conclusion follows necessarily from the premises.

(E) It is impossible for all the premises to be true and the conclusion false.
Choose the correct answer from the options given below :

(1) (A), (B) and () Only

(2 (A)and (C) Only

() (B, (D) and (E) Only

(4) (A), (D) and (E) Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721931
Option 11D : 5330727509
Option 2 ID : 5330727510
Option 3 ID : 5330727511
Option 4 ID : 5330727512
Status : Answered
Chosen Option : 3
Q.42 9? fpersnns consume 810 kg of food in 27 days. In how many days will 60 persons consume 300 kg
of food ?
(1) 12 days
(2) 13 days
(3) 15 days
(4) 18 days
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721925
Option 1 ID : 5330727485
Option 2 ID : 5330727486
Option 3 ID : 5330727487
Option 4 ID : 5330727488
Status : Answered
Chosen Option: 3




Q43 Identify the number that occurs in the series 2, 10, 30, 68, 130, ....... :

(A) 738

(B) 349

(C) 520

(D) 222

Choose the correct answer from the options given below :
(1) (A), (B)and (C) Only

(2 (B), () and (D) Only

(3) (A), (C) and (D) Only

(4) (A), (B) and (D) Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721927
Option 1 ID : 5330727493
Option 2 ID : 5330727494
Option 3 ID : 5330727495
Option 4 ID : 5330727496
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.44

Which among the followings are global scale Phenomenon ?
(A) Ozone layer depletion
(B) Global warming
(C) Forest Fire
(D) Sea level rise
(E) Air pollution
Choose the correct answer from the options given below :
(1) (A), () and (D) Only
(2 (A), (B), (C) and (D) Only
(3) (B, (©) and (E) Only
(4) (A), (B) and (D) Only
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 5330721942
Option 11D : 5330727553
Option 2 ID : 5330727554
Option 3 ID : 5330727555
Option 4 ID : 5330727556

Status : Answered

Chosen Option : 4




Q.45

Consider the following snapshot of MS-EXCEL worksheet :

A B c

1 90 70

2 60 | 170

3 150 | 20

4 30 | 110

5 50 40

6 130 | 30

7

What will be the value of the cell C1 containing the formula=SUMIF(A1:A6,”>100",B1:B6) in the
above worksheelt ?

(1) 90
() 390
(3) 50
(4) 420
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721935
Option 1 ID : 5330727525
Option 2 ID : 5330727526
Option 3 ID : 5330727527
Option 4 ID : 5330727528
Status : Answered
Chosen Option: 3
Comprehension:
Read the following passage and answer the questions.
After being constituted into a separate State, Jharkhand has been consistently making progress
in all fields including culture. Its efforts to create awareness among the people about the State’s
built heritage by organising archaeological workshops have been particularly helpful. There are
also initiatives taken to organise State level festivals to promote the arts and crafts of the local
people. With its natural endowments also the State has become a favourite destination for visitors
from all over the country and abroad. Places like Baba Baidyanath Temple, Suraj Kund, Maithon
Dam, Noori Masjid are some such places which witness large number of visitors. The State
Government is particularly committed to enrich the bamboo and wood crafts of the State along
with tribal paintings and the stone carving activities. In the field of education, Ranchi, once
considered te be a hub of quality education, is regaining its reputation. In the field of sports too the
State has earned national recognition. This is specially so in the case of games like hockey, archery
and cricket at both the national and the international levels.
SubQuestion No : 46
Q.46 i i i i %
Which city was once considered the hub of education in Jharkhand ?
(1) Deoghar
(2) Ranchi
(3) Jamshedpur
(4) Koderma
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721954
Option 1 ID : 5330727597
Option 2 ID : 5330727598
Option 3 ID : 5330727599
Option 4 ID : 5330727600
Status : Answered
Chosen Option : 2




Comprehension:

Read the following passage and answer the questions.

After being constituted into a separate State, Jharkhand has been consistently making progress
in all fields including culture. Its efforts to create awareness among the people about the State’s
built heritage by organising archaeological workshops have been particularly helpful. There are
also initiatives taken to organise State level festivals to promote the arts and crafts of the local
people. With its natural endowments also the State has become a favourite destination for visitors
from all over the country and abroad. Places like Baba Baidyanath Temple, Suraj Kund, Maithon
Dam, Noori Masjid are some such places which witness large number of visitors. The State
Government is particularly committed to enrich the bamboo and wood crafts of the State along
with tribal paintings and the stone carving activities. In the field of education, Ranchi, once
considered te be a hub of quality education, is regaining its reputation. In the field of sports too the
State has earned national recognition. This is specially so in the case of games like hockey, archery
and cricket at both the national and the international levels.

SubQuestion No : 47

Q.47 Which of the following activities is NOT included with state government initiative for enrichment
?
(1) Bamboo and woodcraft
(2) Tribal painting
(3) Stone carving
(4) Rock Painting

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

McQ
5330721952
5330727589
5330727590
5330727591
5330727592
Answered

4




Comprehension:

Read the following passage and answer the questions.

After being constituted into a separate State, Jharkhand has been consistently making progress
in all fields including culture. Its efforts to create awareness among the people about the State’s
built heritage by organising archaeological workshops have been particularly helpful. There are
also initiatives taken to organise State level festivals to promote the arts and crafts of the local
people. With its natural endowments also the State has become a favourite destination for visitors
from all over the country and abroad. Places like Baba Baidyanath Temple, Suraj Kund, Maithon
Dam, Noori Masjid are some such places which witness large number of visitors. The State
Government is particularly committed to enrich the bamboo and wood crafts of the State along
with tribal paintings and the stone carving activities. In the field of education, Ranchi, once
considered te be a hub of quality education, is regaining its reputation. In the field of sports too the
State has earned national recognition. This is specially so in the case of games like hockey, archery
and cricket at both the national and the international levels.

SubQuestion No : 48

Q48 1y which combination of sports has Jharkhand gained national and international recognition ?
(1)  Cricket, archery and hockey
(2) Cricket, archery and shooting
(3) Croquet, Cricket and archery
(4)  Cricket, football and hockey
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721953
Option 11D : 5330727593
Option 2 ID : 5330727594
Option 3 ID : 5330727595
Option 4 ID : 5330727596
Status : Answered
Chosen Option: 1
Comprehension:
Read the following passage and answer the questions.
After being constituted into a separate State, Jharkhand has been consistently making progress
in all fields including culture. Its efforts to create awareness among the people about the State’s
built heritage by organising archaeological workshops have been particularly helpful. There are
also initiatives taken to organise State level festivals to promote the arts and crafts of the local
people. With its natural endowments also the State has become a favourite destination for visitors
from all over the country and abroad. Places like Baba Baidyanath Temple, Suraj Kund, Maithon
Dam, Noori Masjid are some such places which witness large number of visitors. The State
Government is particularly committed to enrich the bamboo and wood crafts of the State along
with tribal paintings and the stone carving activities. In the field of education, Ranchi, once
considered to be a hub of quality education, is regaining its reputation. In the field of sports too the
State has earned national recognition. This is specially so in the case of games like hockey, archery
and cricket at both the national and the international levels.
SubQuestion No : 49
Q.49 Jharkhand has become a favourite destination for visitors from India and abroad because of its :
(1) Stone carving activities
(2) Mineral wealth
(3) Natural attractions
(4) Central location
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721951
Option 1 ID : 5330727585
Option 2 ID : 5330727586
Option 3 ID : 5330727587
Option 4 ID : 5330727588
Status : Answered
Chosen Option : 3




Comprehension:

Read the following passage and answer the questions.

After being constituted into a separate State, Jharkhand has been consistently making progress
in all fields including culture. Its efforts to create awareness among the people about the State’s
built heritage by organising archaeological workshops have been particularly helpful. There are
also initiatives taken to organise State level festivals to promote the arts and crafts of the local
people. With its natural endowments also the State has become a favourite destination for visitors
from all over the country and abroad. Places like Baba Baidyanath Temple, Suraj Kund, Maithon
Dam, Noori Masjid are some such places which witness large number of visitors. The State
Government is particularly committed to enrich the bamboo and wood crafts of the State along
with tribal paintings and the stone carving activities. In the field of education, Ranchi, once
considered te be a hub of quality education, is regaining its reputation. In the field of sports too the
State has earned national recognition. This is specially so in the case of games like hockey, archery
and cricket at both the national and the international levels.

SubQuestion No : 50

Q.50 The organisation of archeological workshops has helped to create awareness about :

(1) Arts and Crafts

(2)  Built heritage

(3) Bamboo and woodcraft
(4) Games and sports

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 5330721950
Option 11D : 5330727581
Option 2 ID : 5330727582
Option 3 ID : 5330727583
Option 4 ID : 5330727584

Status : Answered

Chosen Option : 1

Section : Home Science

Q.51 atch List - I with List - IL

List- I List - IT
(Types of pockets) (Characteristics)

(A)  Flap pocket (I)  The opening is visible like a slot and can be finished with a
rectangular piece of fabric standing upwards from the pocket
edge.

(B) Welt pocket (I) The opening is covered with ﬂap, which can be left open or
buttoned down

(C) Bound pocket (IIT) Tt is applied on the face (right) side of the garment and can be
made in any number of shapes

(D) Patch pocket (IV) It looks similar to a large bound button hole with two pleats of

fabric meeting at the centre of the opening.
Choose the correct answer from the options given below :

1) (AR, (B)R-(L), (©)-(IL), (D)-IV)
@ (A1), (B)-(0), (1), (D))
(3)  (A)-(1I), (B)-(In), (©)-(1), (D)-(1V)
@) (A)}(IV), (B)-(II), (C)-(1D), (D)-(D)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 5330722031
Option 1 ID : 5330727905
Option 2 ID : 5330727906
Option 3 ID : 5330727907
Option 4 ID : 5330727908

Status : Answered

Chosen Option : 2




Q.52 Which one of the following is not a criteria for effective learning ?

(1) Learning should be general in nature

2 Learning should engage maximum number of the senses of the learner
8 gag!

(3) Learning should be challenging

4 Learning should result in functional understandin:
8 g

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 5330721980
Option 1 ID : 5330727701
Option 2 ID : 5330727702
Option 3 ID : 5330727703
Option 4 ID : 5330727704

Status : Answered

Chosen Option: 3

Q.53 wfagch List - T with List - IL

List - I List - II
(Type of Play) (Meaning)
(A) Functional play (I)  Play invelving use of materials or objects to draw or make
something
(B) Symbolic play (II) Play involving repetitive motor activity

(C) Constructive play (III) Play involving social interactions, physical activity and rules
(D) Formal games (IV) Play involving creating settings, characteristics and scripts
Choose the correct answer from the options given below :
M (AIV), (B)-(D), (©)-(I1), (D)-(1)
@ (A)-1D, (B)-aV), (Q)-(), (D)-{)
() (AR, (B, (Cr(LL), (D)-(LV)
@) (A0, (B-(IV), (C)-(11), (D)-(I1)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 5330722042
Option 11D : 5330727949
Option 2 ID : 5330727950
Option 3 ID : 5330727951
Option 4 ID : 5330727952

Status : Answered

Chosen Option : 1




Q.54

Generous bustline, shapely waist, pronounced hips are the characteristics of :

(1) Round body type
(2) Pear body type
(3) Diamond body type
(4) Hourglass body type
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721960
Option 11D : 5330727621
Option 2 ID : 5330727622
Option 3 ID : 5330727623
Option 4 ID : 5330727624
Status : Answered
Chosen Option : 4
Q55 which type of packaging method is used for extending the life of food products by changing the
atmosphere surrounding the food inside the package ?
(1) Aseptic Packaging
(2) Shrink Wrap Packaging
(3) Modified Atmospheric Packaging
(4) CPET Packaging
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721974
Option 11D : 5330727677
Option 2 ID : 5330727678
Option 3 ID : 5330727679
Option 4 ID : 5330727680
Status : Answered
Chosen Option : 4
Q.56  All persons throughout life, as indicated by the Recommended Dietary Allowances need :
(1)  the same nutrients in varying amounts
(2) the same amount of nutrients in any state of health
(3) the same nutrients at any stage in the same amounts
(4) different nutrients in mixed amounts
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721978
Option 1 ID : 5330727693
Option 2 ID : 5330727694
Option 3 ID : 5330727695
Option 4 ID : 5330727696
Status : Answered
Chosen Option : 1




Q.57

The period from conception to implantation of the embryo is called :

(1) conception stage
(2) Embryonic stage
(3) Fetal stage
(4) Germinal stage
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721990
Option 11D : 5330727741
Option 2 ID : 5330727742
Option 3 ID : 5330727743
Option 4 ID : 5330727744
Status : Answered
Chosen Option: 1
Q‘58 - . - . -
The first step in Extension teaching is :
(1) Interest
(2) Satisfaction
(3) Action
(4) Attention
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721981
Option 11D : 5330727705
Option 2 ID : 5330727706
Option 3 ID : 5330727707
Option 4 ID : 5330727708
Status : Answered
Chosen Option: 4
Q.59 The Public Provident Fund Account deposits are qualified for Income Tax Rebate under :
(1) Section 80 L of IT Act
(2) Section 80 DD of IT Act
(3)  Section 80 CCA of LT. Act
(4)  Section 88 of LT. Act
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721967
Option 1 ID : 5330727649
Option 2 ID : 5330727650
Option 31D : 5330727651
Option 4 ID : 5330727652
Status : Answered
Chosen Option: 3




.60 ; Sl i f
Q The main characteristics of exceptional children are :

(A) Deviant and different from children of their age

(B) Deviation may fall on positive or negative side of exceptionality
(C) Require special provision in education and adjustment

(D) Usually get social acceptance

(E) Have high self-esteem and confidence

Choose the correct answer from the options given below :

(1) (A), (D), (E) Only

@  (B) (O, (D) Only

(3) (O, (D), (E) Only

(4) (), (B), (O Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722028
Option 1 ID : 5330727893
Option 2 ID : 5330727894
Option 3 ID : 5330727895
Option 4 ID : 5330727896
Status : Answered
Chosen Option : 4
Q.61

Following are the properties of hydrophobic fabric :
(A) It does not absorb perspiration
(B) It tends to have a static build-up
(C) It has better wrinkle recovery
(D) It accepts dyes and finishes more readily
(E) Stain can be easily removed from it
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (B), (C) and (E) Only
(3) (O), (D) and (E) Only
(4) (D), (C) and (A) Only
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 5330722013
Option 11D : 5330727833
Option 2 ID : 5330727834
Option 3 ID : 5330727835
Option 4 ID : 5330727836

Status : Answered

Chosen Option : 4




92 Which of the following is the characteristic Motif of the Kullu shawls ?

(1) Kalash
(2) Swastika
(3) Panbhat
(4) Chinar leaf
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721958
Option 11D : 5330727613
Option 2 ID : 5330727614
Option 3 ID : 5330727615
Option 4 ID : 5330727616
Status : Answered
Chosen Option : 4
Q.63 In 1973, Henry Mintzberg provided one of the first comprehensive studies on :
(1) Scientific Management
(2) The nature of managerial work
(3) Styles of leadership
(4) The wealth of nations
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721963
Option 1 ID : 5330727633
Option 2 ID : 5330727634
Option 3 ID : 5330727635
Option 4 ID : 5330727636
Status : Answered
Chosen Option: 3
Q64 research, means simply taking things for granted so that the situation is simplified
for logical procedures.
(1)  Hypothesis
(2) Assumptions
(3)  Tenability
(4) Postulate
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721962
Option 1 ID : 5330727629
Option 2 ID : 5330727630
Option 3 ID : 5330727631
Option 4 ID : 5330727632
Status : Answered
Chosen Option: 1




Q.65

Which of the following is not a characteristic of Extension Education ?

(1) Heterogenous learners

(2) Choice of subject matter is with learners

(3) Fixed curriculum
eac wik e ol lo aders
4) Teaching with the help of local lead

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721979
Option 11D : 5330727697
Option 2 ID : 5330727698
Option 3 ID : 5330727699
Option 4 ID : 5330727700
Status : Answered
Chosen Option: 3
Q66 \fatch List - T with List - I1.
List - I List - II
(Programmes) (Beneficiary)
(A) National IDD Centrol Programme Below Poverty Line families
(B) Antyodaya Anna Yojna Drought affected states/UT
(C) Mid Day Meal Programme Entire population
(D) Food for Work programme Primary school children
Choose the correct answer from the options given below :
(1) (A)-), (B)-(IV), (C)-(1D), (D)-(D)
2 (A)D), (B)-(ID), (O)-(LI), (D)-(IV)
(3)  (A)-(IV), (B)IM), (C)-(1D), (D)-(T)
(4) (A)-(Im), (B)~(I), (C)-(1V), (D)-(II)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722038
Option 11D : 5330727933
Option 2 ID : 5330727934
Option 3 ID : 5330727935
Option 4 ID : 5330727936
Status : Answered
Chosen Option : 4




Q.67

Arrange the sequence of Erickson’s stages of psychosocial development :

(A) Initiative Vs, Guilt
(B) Generativity Vs. Stagnation
(C) Identity Vs. Role Diffusion
(D) Ego Integrity Vs. Despair
(E) Trust Vs. Mistrust
Choose the correct answer from the options given below :
™ (®), (A), (©), (B), (D)
(2) (A), (©), (), (B), (D)
@) (©, (B), (D), (B), (A)
4) (B), (E), (A), (D), (O
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722009
Option 11D : 5330727817
Option 2 ID : 5330727818
Option 3 ID : 5330727819
Option 4 ID : 5330727820
Status : Answered
Chosen Option: 3
Q.68 Ty, process of learning appropriate social behaviour chiefly by observing and imitating is known
as:
(1) Cognitive learning
(2) Reinforcement
(3) Conditioning
(4)  Observational learning
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721988
Option 1 ID : 5330727733
Option 2 ID : 5330727734
Option 3 ID : 5330727735
Option 4 ID : 5330727736
Status : Answered
Chosen Option : 4




Q.69

Dimensions of well-being during middle adulthood are :

(A) Self-acceptance
(B) Autonomy
(C) Grief and resentment
(D) Midlife crises
(E) Personal growth
Choose the correct answer from the options given below :
(1) (A), (©), (E) Only
(2) (A), (B), (E) Only
(3} (©), (D), (E) Only
(4) (B), (©), (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722029
Option 11D : 5330727897
Option 2 ID : 5330727898
Option 3 ID : 5330727899
Option 4 ID : 5330727900
Status : Answered
Chosen Option : 2
Q.70 Which one of the following is not a group method of communication ?
(1) Result Demonstration
(2)  Exhibition
(3) Field Day
(4) Study Tour
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721983
Option 11D : 5330727713
Option 2 ID : 5330727714
Option 3 ID : 5330727715
Option 4 ID : 5330727716
Status : Answered
Chosen Option : 4




Q71 Match List - I with List - IL

A)

(8)
©
(D)

List - I List - II

(Techniques of Work Simplification) (Description)

Micromotion Film Analysis (I) Step-by-step description of the worker
performing entire task

Process Chart (I} Pin and String Method

Operation Chart (Il) Photographic Device

Pathway/Flow Chart (IV) One particular step is studied in a whole
process

Choose the correct answer from the options given below :

)
@
(3)
4

(A)-(1D), (B)-(1V), (C)-(), (D)-{IL)
(A)-(LL), (B)-(I), (CH(1V), (D)-(I1)
(A)-(I), (B)-(IV), (C)-(1), (D)-(1)
(A)-(D), (B)-(LD), (C)-(1LL), {D)-(LV)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722035
Option 11D : 5330727921
Option 2 ID : 5330727922
Option 3 ID : 5330727923
Option 4 ID : 5330727924
Status : Answered
Chosen Option : 3
Q.72 . o
Identify the advantages of individual contact method :
(A) Helps in teaching complex practices to the community
(B) Helps in building rapport with the community
(C) Helps in gaining first-hand knowledge from the community
(D) Help in selection of state and national level leaders
(E) Helps in maintaining social norms and rituals
Choose the correct answer from the options given below :
(1) (A), (B), (C) Only
(2)  (A), (©), (D) Only
(3) (B), (), (D) Only
(4) (B), (D), (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722024
Option 11D : 5330727877
Option 2 ID : 5330727878
Option 3 ID : 5330727879
Option 4 ID : 5330727880
Status : Answered
Chosen Option: 4




Q.73

Match List - I with List - IL

List - I

(Type of Barriers in Communication)

List - II
(Example)

(A) Physical and Mechanical Barrier (I)  Incorrect translation
(B) Language Barrier (II) Distance
(C) Socio-Psychological Barrier (II) Rules and Regulations
(D) Organisational Barrier (IV) Resistance to change
Choose the correct answer from the options given below :
(M (A1), (B)-D), (©)-1), (D)-IV)
@ (A1), (B)-(IV), (C)-(I1), (D)-(I)
(3)  (A)(D), (B)-(II), (O)~(II), (D)-(IV)
(4) (A1), (B)-0), (O-(IV), (D)-(I)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722040
Option 11D : 5330727941
Option 2 ID : 5330727942
Option 3 ID : 5330727943
Option 4 ID : 5330727944
Status : Answered
Chosen Option : 4
Q74 4 group of genetic disorders of haemoglobin synethesis which result from a defective rate of synthesis
of one or more of the globin chains, but there is no defect in the amino acid structure of globin
chains.
(1) Methemoglobinemias
(2) Thallasemias
(3) Agammaglobinemias
(4)  Aminoaciduria
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721972
Option 11D : 5330727669
Option 2 ID : 5330727670
Option 3 ID : 5330727671
Option 4 ID : 5330727672
Status : Answered
Chosen Option : 2




Q.75
Identify the leadership styles from the following :

(A) Laissez - fair

(B) Autocratic

(C) Interactive

(D) Democratic

(E) Bureaucratic

Choose the correct answer from the options given below :
(1) () () (D) Only

2)  (A), (B), (D) Only

) (A), (B), (C) Only

) (B), (D), (E) Only

3]

(
(
(

Iy

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 5330722022
Option 11D : 5330727869
Option 2 ID : 5330727870
Option 3 ID : 5330727871
Option 4 ID : 5330727872

Status : Answered

Chosen Option : 2

Q.76 Arrange the steps in the manufacture of Cellulose Xanthate solution.
(A) Ripening of viscose and filtration for the removal of foreign particles
(B) Deaeration

(C) Reaction with carbon disulphide for conversion to alkali-soluble cellulose xanthate and
dissolution in dilute alkali

(D) Reaction with strong alkali, known as steeping and shredding into small crumbs or lumps

(E) Ageing of alkali cellulose for lowering the degree of polymerisation.

Choose the correct answer from the options given below :

1 OB Q) (A) (B

@ (©), (D) (E), (B),

(G) (8), (Q). (D), (E),
(

A)

4 (A), (B), (©). (D). (B)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 5330721997
Option 1 ID : 5330727769
Option 2 ID : 5330727770
Option 3 ID : 5330727771
Option 4 ID : 5330727772

Status : Answered

Chosen Option: 3




Q.77 When we eat meal some compounds do not get metabolized, they instead become special molecules

called :
(1) Ligands
(2) Metabolomes
(3) Proteomics
(4) Genomes
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721977
Option 11D : 5330727689
Option 2 ID : 5330727690
Option 31D : 5330727691
Option 4 ID : 5330727692
Status : Answered
Chosen Option: 3
Q.78 i 7 :
Assessment of nultritional status through Direct Method is done by :
(A) Anthropometry
(B) Vital Health Statistics
(C) Clinical Examination
(D) Radiological Examination
(E) Biochemical Estimation
Choose the correct answer from the options given below :
(1) (A), (B), (O), (E) Only
(2 (A) (O, (D), (E) Only
3) (B, (©), (D), (E) Only
4) (D), (O), (B), (A) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722018
Option 1 ID : 5330727853
Option 2 ID : 5330727854
Option 3 ID : 5330727855
Option 4 ID : 5330727856
Status : Answered
Chosen Option : 2




Q.79

Arrange the steps of effective listening.
(A) Don't ask questions to grab attention. Empathise with the speaker.

(B) Be open minded and create a mental picture of what the speaker is saying.

(C) Give genuine feedback, both verbal and non-verbal.

(D) Don't respond in haste, be patient, and wait for your turn.

(E) Establish eye contact and observe the body language of the speaker.
Choose the correct answer from the options given below :

M (). () (D), (A) (©)

@  ©®, D) (©).(a) (B)

B)  (B), (C) (E), (D), (A)

@ ®, (B) (D), (A) (O

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722006
Option 1 ID : 5330727805
Option 2 ID : 5330727806
Option 3 ID : 5330727807
Option 4 ID : 5330727808
Status : Answered
Chosen Option: 4
Q.80 o2 - .
Culture possesses specific characteristics that shape it :
(A) Culture in transferred
(B) Culture is common sense
(C) Culture is permanent and rewarding
(D) Culture is an adaptable category
(E) Culture in shared among members of the society
Choose the correct answer from the options given below :
(1)  (A), (©), (D), (E) Only
(2)  (B), (A), (C), (E) Only
(3) (A), (B), (C), (D) Only
(4) (A), (B), (D), (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722017
Option 1 ID : 5330727849
Option 2 ID : 5330727850
Option 3 ID : 5330727851
Option 4 ID : 5330727852
Status : Answered
Chosen Option: 1




Q.81

The functions of a family therapist are :

(A) Acts as a collaborator for the whole family
(B) Expresses empathic comments

(C) Demonstrates a caring attitude

(D) Designs a rating scale

(E) Gives birth control advice

Choose the correct answer from the Dptinns given below :

(1) (©), (D), (E) Only
(2) (A, (B), (E) Only
(3)  (A), (B), (C) Only
4) (B), (D), (E) Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722026
Option 11D : 5330727885
Option 2 ID : 5330727886
Option 3 ID : 5330727887
Option 4 ID : 5330727888
Status : Answered
Chosen Option: 3
Q.82 . Tl nll ’
Types of belts included under “Tie Belt” category :
(A) Spaghetti
(B) Straight tie ups
(C) Bias belt
(D) Contour belt
(E) Rever belt
Choose the correct answer from the options given below :
(1) (A), (B) and (O) Only
(2) (B), (C) and (E) Only
(3) (©), (D) and (E) Only
(4) (D), (C) and (A) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722012
Option 11D : 5330727829
Option 2 ID : 5330727830
Option 3 ID : 5330727831
Option 4 ID : 5330727832
Status : Answered
Chosen Option: 1




Q.83

The genetic endowment inherited from a person’s biological parents at conception is :

(1) Environment
(2) Heredity
(3) Maturation
(4) Conception
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721987
Option 11D : 5330727729
Option 2 ID : 5330727730
Option 3 ID : 5330727731
Option 4 ID : 5330727732
Status : Answered
Chosen Option : 2
Q.84 : Fo i
Which one of the following is not a category of adopters ?
(1) Early Suggestors
(2) Early Adoptors
(3) Early Majority
(4) Late Majority
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721985
Option 11D : 5330727721
Option 2 ID : 5330727722
Option 3 ID : 5330727723
Option 4 ID : 5330727724
Status : Answered
Chosen Option: 1




Q85 Match List =T with List - IL

List - I List - II
(Therapeutic Diet) (Different health conditions)
(A) Alkaline - ash Diet ()  Celiac Disease
(B) Low purine diet (I) Cystine Calculi
(C) Moderate to low fat diet ~ (III) Obesity
(D) Low calorie diet (IV) Gout

Choose the correct answer from the options given below :
(1) (A0, (B)-(I), (O(IL), (D)-(IV)
(2 (A)-IV), (B)-(I), (C)-(II), (D)-(II)
(3 (A)-(ID), (B)-(IV), (C)-(T), (D)-(ILI)
(4) (A1), (B)-(I), (O(1V), (D)-(II)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722037
Option 1 ID : 5330727929
Option 2 ID : 5330727930
Option 3 ID : 5330727931
Option 4 ID : 5330727932
Status : Answered
Chosen Option: 3
Q86 e first step of any parent education program is to find similarities between a group of parents by
developing which one of the following ?
(1)  Communication
(2) Eye contact
(3) Therapy
(4) Rapport
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721993
Option 11D : 5330727753
Option 2 ID : 5330727754
Option 3 ID : 5330727755
Option 4 ID : 5330727756
Status : Answered
Chosen Option : 4




Q.87

Arrange the process of Job Analysis in sequence :

(A)
(B)
(©)
(D)
(E)

Job Specification
Job Description
Strategic Choices
Process Information
Gather Information

Choose the correct answer from the options given below :

(1)
2

2)
(3)
4)

= LD

Options 1. 1

2.2
3.3
4.4

(A), (B), (C), (B), (D)
(B), (D). (A), (O, (E)
(©), (E), (D), (B). (A)
(D), (A), (©), (E), (B)

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:
Chosen Option :

MCQ
5330722000
5330727781
5330727782
5330727783
5330727784
Answered

2

Q.88

Which of the following is not the “probability method” of sampling ?

1)
2)
&)
4)

Options 1. 1

2.2
3.3
4.4

Systematic sampling
Stratified sampling
Cluster sampling
Quota sampling

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:
Chosen Option :

MCQ
5330721959
5330727617
5330727618
5330727619
5330727620
Answered

4




Q.89 According to the nature of personnel involved which one of the following is not a type of channel
in communication ?

(1)  Personal localite

(2) Impersonal localite

(3) Personal cosmopolite

(4)  Impersonal cosmopolite
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 5330721982
Option 11D : 5330727709
Option 2 ID : 5330727710
Option 31D : 5330727711
Option 4 ID : 5330727712

Status : Answered
Chosen Option : 2

Q.90 Due to the fibrous surface, threads made from spun yarn possess following properties :
(A) Highly elastic properties
(B) Good sewing performance
(C) Good dimensional stability
(D) Good stitch locking properties
Choose the correct answer from the options given below :
(1) (B) and (C) Only
(2)  (B), (D) and (A) Only
(3) (&), (B) and (C) Only
#) (8, (C) and (D) Only
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 5330722011
Option 1 ID : 5330727825
Option 2 ID : 5330727826
Option 3 ID : 5330727827
Option 4 ID : 5330727828

Status : Answered
Chosen Option : 4




Q.91

o
@

Policy making
Planning and decision making

The management function of Management by Objectives under Policy and Planning Techniques
used in Management of Public Organizations is :

(3) Planning and controlling
(4) Planning, decision making and controlling
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721964
Option 11D : 5330727637
Option 2 ID : 5330727638
Option 3 ID : 5330727639
Option 4 ID : 5330727640
Status : Answered
Chosen Option: 3
Q.92 Utensil to keep food hot without actually boiling by standing the dish containing the food in a
large pan filled with water which is kept just below boiling point is called :
(1) Casserole
(2) Hot case
(3) Steamer
(4)  Bain - Marie
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721973
Option 1 ID : 5330727673
Option 2 ID : 5330727674
Option 3 1D : 5330727675
Option 4 ID : 5330727676
Status : Answered
Chosen Option : 3
Q.93 Which one of the following is not a technique for noise reduction at source ?
(1) Use of quiet machines
(2) Enclose noisy machines
(3) Using ear-plugs or muffs
(4) Regular maintenance of machines
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721970
Option 11D : 5330727661
Option 2 ID : 5330727662
Option 3 ID : 5330727663
Option 4 ID : 5330727664
Status : Answered
Chosen Option: 3




Q.94
Identify the PLA Methods :

(A) Resource Map

(B) Bar Graph

(C) Transact Walk

(D) Folk songs

(E) Key Informant Interviews

Choose the correct answer from the options given below :
1) (B), (©), (D). (E) Only

2 (©), (D), (A), (B) Only

(3) (A), (©), (D), (E) Only

4) (D), (E). (A), (B) Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722023
Option 1 ID : 5330727873
Option 2 ID : 5330727874
Option 3 ID : 5330727875
Option 4 ID : 5330727876
Status : Answered
Chosen Option : 2
Q.95

Mention the common changes in motor abilities experienced by elderly.
(A) Reduced income and entertainment .
(B) Decline in mascular strength
(C) Decrease in speed in skilled movements
(D) Reduced reasoning and memory skills
(E) Delay in learning of new skills
Choose the correct answer from the options given below :
(1) (B), (©), (E) Only
(2)  (A), (B), (E) Only
(@) (B, (O, (D) Only
(#4)  (©), (D), (E) Only
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 5330722027
Option 11D : 5330727889
Option 2 ID : 5330727890
Option 3 ID : 5330727891
Option 4 ID : 5330727892

Status : Answered

Chosen Option : 1




Q.96 \fatch List - I with List - 1L

List - I

(Type of research)
(A) Action Research (D
(B) Applied Research (1)

(C) Experimental Research (II)

(D) Historical Research (V)

M) (A0, (B, (©-(IV). (D}-(I)

@ (A, B)-0), (O-(1V), (D)-(LL)

(3) (A)D), (BHIV), (C)-(IT), (D)-(I)
~

(4 (AHII), (B)-(D), (CR(IV), (D)-(IT)

List - 1T

(Meaning)

Research is designed to provide data to support a theory
through its application

Research is designed to solve problems through the
application of scientific method

Research is designed to study, understand and explain
events that occurred in past

Research is designed with independent and dependent
variables to study cause and effect

Choose the correct answer from the options given below :

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722044
Option 1 ID : 5330727957
Option 2 ID : 5330727958
Option 3 ID : 5330727959
Option 4 ID : 5330727960
Status : Answered
Chosen Option : 2
Q.97 ) . 5
Arrange the processing of linen in correct sequence :
(A) Harvesting
(B) Drawing
(C) Retting
(D) Spinning
(E)  Rippling
Choose the correct answer from the options given below :
(1) (A), (C), (E), (D), (B)
(2) (A, (E), (©), (B), (D)
(3)  (B), (A), (D), (O), (E)
4) (A), (B), (©), (D), (E)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721995
Option 11D : 5330727761
Option 2 ID : 5330727762
Option 3 ID : 5330727763
Option 4 ID : 5330727764
Status : Answered
Chosen Option: 3




Q.98

Steps to be followed in sequence for planning and creating new designs :

(A) Make a plan
(B) Set the goal
(C) Carry out the plan
(D) Examine the relevant outside influences
(E) Evaluate
Choose the correct answer from the options given below :
(1) (D) (A), E), (O) (B)
2 (©, (B) (B), (D), (A)
@) (B), (D), (A), (C), (E)
4) (A), (B), (©), (D), (B)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721996
Option 11D : 5330727765
Option 2 ID : 5330727766
Option 3 ID : 5330727767
Option 4 1D : 5330727768
Status : Answered
Chosen Option : 4
Q.99 : : . - " .
Which one of the following is not a non-projected visual aid ?
(1) Chalk Board
(2) Bulletin Board
(3) Flip Chart
(4) Puppet Show
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721984
Option 11D : 5330727717
Option 2 ID : 5330727718
Option 3 ID : 5330727719
Option 4 ID : 5330727720
Status : Answered
Chosen Option : 2




Q100 npapch List - I with List - 1L

List - I List - II
(Novelty Yarn) (Structure)
(A) Flock Yarn (I)  Short thick pile yarn with soft velvety appearance
(B) Chenille Yarn (II)  Single yarn in which small tufts of fibers are inserted at regular
intervals.
(C) Core-spun Yarn (III) Base is heavy and coarse yarn. The effect yarn is curled up
around the base and is held by the binder yarn.
(D) Loop Yarn (IV) Base yarn is completely covered or wrapped by another yarn
Choose the correct answer from the options given below :
0 (AHD, (B)-(ID), (C)-(II), (D)-(IV)
2 (A1), (B)-0), (O1V), (D)-(IID)
(3)  (A}IV), (B)-(IL), (C)-(1), (D)-(1D)
) (A)-(1I), (B)IV), (O, (D)-(0)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722030
Option 11D : 5330727901
Option 2 ID : 5330727902
Option 3 ID : 5330727903
Option 4 ID : 5330727904
Status : Answered
Chosen Option : 3
Q.101 Changes in performance of work in the interest of Work Simplification can be grouped into three
classes. Select the changes from the least to the most important in sequence.
(A) Product
(B) Body positions and motions, and sequence of work
(C) Tools, equipments, and work arrangement
(D) Energy spent on activities
(E) Time spent on performing activities
Choose the correct answer from the options given below :
1) (D) (B), (C) Only
(2 (B), (©). (A) Only
(3)  (A) (D), (C) Only
4 (A) (D), (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722014
Option 11D : 5330727837
Option 2 ID : 5330727838
Option 3 ID : 5330727839
Option 4 ID : 5330727840
Status : Answered
Chosen Option: 1




Q.102

Arrange the following steps in order which provide a useful procedural guideline regarding
research :

(A) Extensive literature survey

(B) Formulating the research problem

(C)  Analysis of data

(D) Collecting data

(E) Interpretation and report writing

Choose the correct answer from the options given below :
(1) (B), (D), (O) (A) (B)

@ (A (B), Q). D) (B)

@) (B), W), D). Q) (&)

) (B) (E) (O) (A), (D)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722002
Option 11D : 5330727789
Option 2 ID : 5330727790
Option 3 ID : 5330727791
Option 4 ID : 5330727792
Status : Answered
Chosen Option : 3
Q.103
Arrange the steps of designing a chart in sequence :
(A) Divide content into headings and subheadings
(B) Research the topic from credible sources
(C) Prepare a draft layout with text and visuals
(D) Identify visuals and colour scheme
(E) Design the final layout with text and visuals
Choose the correct answer from the options given below :
(1) (©), (A), (E), (D), (B)
(2) (D) (A), (©), (E), (B)
(3) (B), (A), (D). (C), (E)
4 (B (O), (A), (EB), (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722005
Option 11D : 5330727801
Option 2 ID : 5330727802
Option 3 ID : 5330727803
Option 4 ID : 5330727804
Status : Answered
Chosen Option: 3




Q.104

One of the reasons due to which Extension programs fail is :

(1) Commitment to goals
(2) Recognition of limiting factors
(3) Authoritarian management
(4) Use of strategies for change
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721986
Option 11D : 5330727725
Option 2 ID : 5330727726
Option 3 ID : 5330727727
Option 4 ID : 5330727728
Status : Answered
Chosen Option: 3
Q.105 . : .
Walk-in bathtubs can be good options for those with :
(1) Limited mobility
(2) Individual user
(3) Average adult with good range of motion
(4) Individual using a wheelchair
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721966
Option 1 ID : 5330727645
Option 2 ID : 5330727646
Option 3 ID : 5330727647
Option 4 ID : 5330727648
Status : Answered
Chosen Option : 2




Q106 1,¢ traditional textile which is mordant and resist block printed on both sides (of the fabric) with

geometrical motifs with a strong grid pattern in the shades of blue and red.

(1)  Ajrakh

(2) Sanganeri

(3) Rogan

(4) Bagh

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 5330721955
Option 11D : 5330727601
Option 2 ID : 5330727602
Option 3 ID : 5330727603
Option 4 ID : 5330727604

Status : Answered
Chosen Option: 1

107 Arrange the steps of Extension Program Planning in sequence.
(A) Situation Analysis
(B) Need Assessment
(C) Determining Objectives
(D) Development of Plan of Work
(E) Evaluation of Progress
Choose the correct answer from the options given below :
(1) (D) (C) (A), (B), (B
(2 (A) (B), (©), (D) (B)
(3) (), (A), (©), (), (D)
4) (A), (B), (O), (D), (E)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 5330722004
Option 11D : 5330727797
Option 2 ID : 5330727798
Option 3 ID : 5330727799
Option 4 ID : 5330727800

Status : Answered
Chosen Option: 1




(B)

M
2
)
()

(&)

(<)
(D)
Choose the correct answer from the options given below :
(A)-(1D), (B)-(ID), (O)-(1V), (D)-(1)
(A)-(I, (B)-(IV), (C)-(1), (D)-(ID)
(A)-(1IL), (B)-(LV), (C)-(1), (D)-(IL)
(A)-(1ID), (B)(I), (C)-(ID), (D)-(IV)

Q108 \farch List - T with List - IL
List - I

(Stages of Group Development)
Forming
Storming
Norming

Performing

M

{1
(1)
()

List - II
(Purpose)

Learning to work with each-other and co-exist

Getting in action as a cohesive group
Getting to know about each-other
Challenging each-other

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722041
Option 1 ID : 5330727945
Option 2 ID : 5330727946
Option 3 ID : 5330727947
Option 4 ID : 5330727948
Status : Answered
Chosen Option : 4
Q109 \Which of the following is not the part of components of Investment Portfolio ?
(1) Financial Investments
(2) Cash funds
(3) Defensive Investments
(4) Aggressive Investments
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721968
Option 1 ID : 5330727653
Option 2 ID : 5330727654
Option 3 ID : 5330727655
Option 4 ID : 5330727656
Status : Answered
Chosen Option: 4




Q.110

The natural colourants used in food are :

(A)
(B)
(©)
(D)
(E)

Annatto
Carmosine
Indigo carmine
Betalaines
Anthocyanins

Choose the correct answer from the options given below :

1)
(2)
(3)
4)

Options 1. 1

2.2
3.3
4.4

(B, (©), (D) Only
(A), (D), (E) Only
(A), (©), (D) Only
(B), (C), (E) Only

Option 2 ID

Question Type :
Question ID :
Option 11D :
: 5330727858
Option 31D :
Option 41D :
Status:

Chosen Option :

McQ
5330722019
5330727857

5330727859
5330727860
Answered

4

Q.111

Match List - I with List - IL

(A)
(B)
©
(D)

List - I

(Name of the theorist)
Urie Bronfenbrenner
Jean Piajet

Erick Erickson

Levs Vygotsky

W)
(1)
(1)
(Iv)

List - II

(Name of the theory)
Psychosocial Theory
Sociocultural Theory
Bioecological Theory

Cognitive Development Theory

Choose the correct answer from the options given below :
(A)-(D), (By-(IT), (C)-(IV), (D)-(II)
(A)-(11), (B)-(IV), (O)-(I), (D)~(1II)
(A)-(1), (B)-(IT), (C)-(IIT), (D)-(IV)
(A)-(1I), (B)-(IV), (O)~(1), (D)-(II)

@)
@
)
4

Options 1. 1

2.2
3.3
4.4

Question Type

Option 3 ID

- MCcQ
Question ID :
Option 11D :
Option 21D :
: 5330727955
Option 41D :
Status :

Chosen Option :

5330722043
5330727953
5330727954

5330727956
Answered
4




List - I
(FIBER)
(A) Cotton
(B) Viscose

(©) Wool
(D) Flax

@ (A, B)-0, (©-1V]

Q112 npapch List - I with List - 1L

List - II
[(MICROSCOPIC CHARACTERISTICS)(Longitudinal view)]
I)  Presence of cross markings and nodes

(II)  Flattened, collapsed, spirally twisted tube with a rough surface
and convolutions

(III) Uniform diameter with striations running parallel to fiber axis
(IV) Irregular and roughly cylindrical prominent scale margins.

Choose the correct answer from the options given below :
M (A, (B) (n, {©)-V). (D)-()
@ (A)NIV), (B)-(IL), (C)-(1),. D))
(3) (A, (BHIV), (CHT), (D)-(IN)

). (D)-(II)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722032
Option 1 ID : 5330727909
Option 2 ID : 5330727910
Option 3 ID : 5330727911
Option 4 ID : 5330727912
Status : Answered
Chosen Option: 1
Q.113 The three sewing machine parts which together constitute the drop feed mechanism are :
(1) needle, thread take-up lever, presser foot
(2) presser foot, throat plate, feed dog
(3) Needle bar, spool, feed dog
(4) Bobbin, needle, throat plate
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721961
Option 11D : 5330727625
Option 2 ID : 5330727626
Option 3 ID : 5330727627
Option 4 ID : 5330727628
Status : Answered
Chosen Option: 3




Q14 Identify limitations of Mass Media :

(A) Very little scope for personal contact with audience
(B) Generalized recommendations hinder application of messages by individuals
(C) Difficulty in getting feedback from audience
(D) Reinforces previous learning of the audience
(E) Large number of people may communicate within a short period of time
Choose the correct answer from the options given below :
(1) (©), (D) (E) Only
2)  (©) (A), (B) Only
(3) (A, (B), (C) Only
# (D), (B) (A) Only
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 5330722025
Option 1 ID : 5330727881
Option 2 ID : 5330727882
Option 3 ID : 5330727883
Option 4 ID : 5330727884

Status : Answered

Chosen Option: 1

Q115 o, resolving industrial disputes, collective bargaining has been viewed from three perspectives :
(A) As a change in contract language
(B) As a peace treaty between the conflicting parties
(C) As asystem of industrial jurisprudence
(D) As a process of company policy

(E) As a process of social change

Choose the correct answer from the options given below :

(1) (A), (B), (C) Only

(2 (B), (E). (A) Only

(3)  (E), (B), (C) Only

) (E). (A), (©) Only

Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 5330722016
Option 11D : 5330727845
Option 2 ID : 5330727846
Option 3 ID : 5330727847
Option 4 ID : 5330727848

Status : Answered

Chosen Option: 3




Q.116 In which textile finishing process, the surface fibres are burned off to produce smooth surface ?

(1) Raising
(2) Singeing
(3) Calendaring
(4) Sanforizing
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721956
Option 1 ID : 5330727605
Option 2 ID : 5330727606
Option 3 ID : 5330727607
Option 4 ID : 5330727608
Status : Answered
Chosen Option: 4
Q.17 3 ) '
In static continuous exertions :
(1) Blood flow is irregular
(2) Blood flow is fast
(3) Blood flow is normal
(4) Blood flow is diminished
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721969
Option 11D : 5330727657
Option 2 ID : 5330727658
Option 3 ID : 5330727659
Option 4 ID : 5330727660
Status : Answered
Chosen Option : 2




Q.118

Arrange the stages of language development during infancy.
(A) Intonation

(B) Crying
(C) Babbling
(D) Echolalia
(E) Cooing

Choose the correct answer from the options given below :
(1) (A (O, (B), (E), (D)
2 D) (B) (&), (O) (B)
(3) (B), (B), (O) (D), (A)
(4) (), (D), (A), (B), (E)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722008
Option 11D : 5330727813
Option 2 ID : 5330727814
Option 3 ID : 5330727815
Option 4 ID : 5330727816
Status : Answered
Chosen Option: 3
Q.119 i i il ;
Arrange the absorption and metabolism of iodine in correct sequence.
(A) Iodide
(B) Tri-iodothyronine (T,)
(C) Dietary lodide
(D) lodine
(E) Thyroxine (T,)
Choose the correct answer from the options given below :
(1) (A), (B), (©, (D), (E)
@ (©, (A), D) (E) (B)
(3) (©), (D), (A), (B), (B)
4) (©, (B), (D), (E). (A)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722003
Option 1 ID : 5330727793
Option 2 ID : 5330727794
Option 3 ID : 5330727795
Option 4 ID : 5330727796
Status : Answered
Chosen Option: 3




Q.120 The three enzymes produced by the pancreas which conlinue breaking down proteins into simpler

substances.

(A) Amylase

(B) Trypsin

(C) Hydrochloric Acid
(D) Chymotrypsin

(E) Carboxypeptidases
Choose the correct answer from the options given below :
(1) (Q), (D), (E) Only
(2)  (A), (B), (C) Only
(3)  (A). (B), (D) Only
(4) (B), (D), (E) Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722021
Option 1 ID : 5330727865
Option 2 ID : 5330727866
Option 3 ID : 5330727867
Option 4 ID : 5330727868
Status : Answered
Chosen Option : 2
Q.121 : :
World Diabetes Day is celebrated on :
(1) 12% November
(2) 13% November
(3) 14" November
(4) 15%" November
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721971
Option 1 ID : 5330727665
Option 2 ID : 5330727666
Option 3 ID : 5330727667
Option 4 ID : 5330727668
Status : Answered
Chosen Option : 1




Q.122

Arrange the correct sequence of stages of pre-natal development.

(4)
(B)
©)
(D)
(E)

Fetal stage
Germinal stage
Embryonic stage
Conception stage
Delivery stage

Choose the correct answer from the options given below :

(1) (B), (C) (E), (A), (D)
@ (D) () () (A) (B
(3) (A), (B), (©), (D), (E)
(4) (E), (D), (B), (A), (O)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722007
Option 1 ID : 5330727809
Option 2 ID : 5330727810
Option 3 ID : 5330727811
Option 4 ID : 5330727812
Status : Answered
Chosen Option : 2
Q123 Among the following crvogenic liquids, which liquified gas has an extremely low boiling point ?
(1) Freon
(2) Liquid Nitrogen
(3)  Liquid Carbon Dioxide
(4)  Liquid Helium
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721976
Option 1 ID : 5330727685
Option 2 ID : 5330727686
Option 3 ID : 5330727687
Option 4 ID : 5330727688
Status : Answered
Chosen Option: 4




Q.124 Which part of the body develops more quickly than any other organ in early childhood ?

(&)
2)
3
4)
Options 1. 1
2.2
3.3
4.4

Limbs
Head circumference
Brain
Heart

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ
5330721991
5330727745
5330727746
5330727747
5330727748
Answered

3

Q.125

Match List - I with List - IL

(A)
(B)
©
(D)

List - I List - II

(Kitchen zones) (Items stored)

Consumable Zone (I) Knife, cutting board and gadgets
Cleaning Zone (II) Pots, lids and other utensils
Preparation Zone (IlI) Sink, dishwasher and supplies
Cooking Zone (IV) Spices, sugar, tea, coffee and oil

Choose the correct answer from the options given below :

(M
2
)
(4)
Options 1. 1
2.2

3.3
4.4

(A)(I), (B)AIV), (C)11), (D)-(I)
(A)-(1V), (B)-(II), (C)-(T), (D)-(I1)
(A)-(D), (B)-(LD), (O-(1V), (D)-(I)
(A)~(ID), (B)-(IL), (C)-(1V), (D)-(D)

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ
5330722033
5330727913
5330727914
5330727915
5330727916
Answered

2




Q.126

Arrange in sequence the five phases that constitute Strategic Human Resource Management process.
(A) HR strategy formulation

(B) Identify HR strategies

(C) Scan the Environment

(D) Monitor and Evaluate HR strategies

(E) Identify the sources of Competitive Advantage
Choose the correct answer from the options given below :
M (), (4, ©) ® (©

@  (© (B). (B), (A), D)

@ (), ®. ©), ®), D)

@ (O, () @), D) (B

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 5330721998
Option 11D : 5330727773
Option 2 ID : 5330727774
Option 3 ID : 5330727775
Option 4 ID : 5330727776

Status : Answered
Chosen Option: 3

Q127 \hich one is the property of Hemicellulose ?
(1)  indigestible and insoluble in water
(2) indigestible but soluble in water
(3)  on hydrolysis yields galacturonic acid and small amounts of galactose and arabinose
(4) Highly fermented by colonic bacteria
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 5330721975
Option 1 ID : 5330727681
Option 2 ID : 5330727682
Option 3 ID : 5330727683
Option 4 ID : 5330727684

Status : Answered
Chosen Option : 2




Q.128

Arrange the steps involved in staff employment in an organisation.

Chosen Option :

(A) Orientation
(B) Selection and Placement
(C) Advertising
(D) Recruiting
(E) Training
Choose the correct answer from the options given below :
(1 (©.(A), B), E), (D)
(2) (©), (D), (B), (A), (E)
(3) (O, (D), (A), (B), (E)
4) (©, (B), (A), (D), (B)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722001
Option 11D : 5330727785
Option 2 ID : 5330727786
Option 3 ID : 5330727787
Option 4 ID : 5330727788
Status : Answered
Chosen Option : 2
Q129 \fapch List - T with List - IL.
List - I List - Il
(Cost) (Examples)
(A) Hidden Cost ()  Payroll payments
(B) Semi-Variable Overhead Cost (I)  Pilferage in delivery points
(C) Food Cost () Loss due to repair and maintenance
(D) Labour Cost (IV) Loss due to spillage
Choose the correct answer from the options given below :
(1) (A)-1V), (B)-(IIL), (O)-(11), (D)-(1)
@) (A)H1V), (B)II), (O)-(D, (D)-(IN)
(3)  (A)-(m), (B)(1D), (CO)-(V), (D)-(I)
4)  (A)-1D, (B)-D), (O-(1V), (D)~(1)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722036
Option 1 ID : 5330727925
Option 2 1D : 5330727926
Option 3 ID : 5330727927
Option 4 ID : 5330727928
Status : Answered

1




Q.130

Fabrics prepared by two layers of fabrics combined onto one fabric with foam.

(1) Bonded fabric
(2) Laminated fabric
(3) Coated fabric
(4) Poromeric fabric
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721957
Option 11D : 5330727609
Option 2 ID : 5330727610
Option 31D : 5330727611
Option 4 ID : 5330727612
Status : Answered
Chosen Option : 2
Q.131 ;
Arrange the stages of group development in sequence :
(A) Performing
(B) Norming
(C) Forming
(D) Adjourning
(E) Storming
Choose the correct answer from the options given below :
(1) (B), (A), (B), (D), (O)
(2) (©), (A), (B), (D), (E)
(3) (O, (E), (B), (A), (D)
(4) (A), (B), (E), (), (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721999
Option 11D : 5330727777
Option 2 ID : 5330727778
Option 3 ID : 5330727779
Option 4 ID : 5330727780
Status : Answered
Chosen Option: 3




o
@
@)
S

Q.132 According to Kohlberg which level of moral reasoning is based on the person’s own moral
standards ?

Conventional

Pre conventional
Beginning

Post conventional

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721992
Option 11D : 5330727749
Option 2 ID : 5330727750
Option 3 ID : 5330727751
Option 4 ID : 5330727752
Status : Answered
Chosen Option : 1
Q.133 ; 2 v : 3 z & ik 3
The single cell which divides again and again and is the beginning of life is :
(1) DNA
(2) Autosome
(3) Zygote
(4) Chromosome
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330721989
Option 1 ID : 5330727737
Option 2 ID : 5330727738
Option 3 ID : 5330727739
Option 4 ID : 5330727740
Status : Answered
Chosen Option : 2




Q.134

(A) Tenacity

(B) Cohesiveness

(C) Luster

(D)  Uniformity

Choose the correct answer from the options given below :
(1) (B and (D) Only

(2) (A), (B) and (C) Only

(3) (B), () and (D) Only

(4) (C) and (D) Only

Which of the following are primary properties of textile fibers ?

Well planned accent lighting puts the focus on :
(1) Lighting source

(2) Lighting fixture

(3) On desired objects

(4) On work surfaces

Options 1. 1
2.2
3.3
4.4

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722010
Option 11D : 5330727821
Option 2 ID : 5330727822
Option 3 ID : 5330727823
Option 4 ID : 5330727824
Status : Answered
Chosen Option : 1
Q.135

Question Type

Option 11D

. MCQ
Question ID :

5330721965

: 5330727641
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

5330727642
5330727643
5330727644
Answered

3




Q136 o maximum usefulness, market segments must exhibit the following characteristics :
(A) Measurability
(B) Substantiality
(C) Action ability
(D) Dependability
(E)  Accessibility
Choose the correct answer from the options given below :
1) (A) (B), (C), (D) Only
@  (B). (D), (E), (&) Only
(3)  (A), (B), (C), (E) Only
@) (D), (E), (C), (B) Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722015
Option 1 ID : 5330727841
Option 2 ID : 5330727842
Option 3 ID : 5330727843
Option 4 ID : 5330727844
Status : Answered
Chosen Option: 3
9137 Match List - I with List - I1.
List - I List - II
(Type of Risk) (Uncertainty of Future Returns)
(A) Financial Risk ()  Investor Psychology
(B) Market Risk (II) Capital Market

(C) Purchasing Power Risk (LI) Financial Capacity
(D) Political and Social Risk (IV) Price Level
Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(IV), (O)-(I), (D)-(I)
(2 (A1, (B)-(II), (©)-1V), (D)-(I)
(@) (A)-IV), (B)-(I), (C)-(I), (D)-(II)
(4)  (A)-(Imm), (B)-(I), (O-(IV), (D)-(I)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 5330722034
Option 1 ID : 5330727917
Option 2 ID : 5330727918
Option 3 ID : 5330727919
Option 4 ID : 5330727920

Status : Answered

Chosen Option: 4




Q.138

Match List - I with List - IL

List-I

(Types of Radio Program)
(A) Newsreel (0]
(B) Interview (11)
(C) Documentary (III)
(D) Radio Drama (V)

List - II
(Salient Feature)

Talk among people and about people involved in news or
events

Radio plays of short duration or in series

Eye witness accounts, extracts of speeches, talks, and
interviews

A short story of a person, group, organisation or situation

Choose the correct answer from the options given below :

(1) (A1), (B)-(D), (C(1V), (D)-(1)
@ (AR, (BRI, (C}(L), (D)-(LV)
(3 (AHIV), (B)-(D), (C)-(1IT), (D)-(IT)
@ (AR, (BRI, (CH(IV), (D)-(IT)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722039
Option 11D : 5330727937
Option 2 ID : 5330727938
Option 3 ID : 5330727939
Option 4 ID : 5330727940
Status : Answered
Chosen Option : 4
Q139 The fatty acids known to be essential for complete human nutrition are :
(A) Linoleic acid
(B) Alpha - linolenic
(C) Sterols
(D) Docosahexaenoic Acid
(E) Transfatty Acid
Choose the correct answer from the options given below :
(1) (A), (B), (C) Only
(2 (B), (O), (D) Only
()  (A), (B), (D) Only
(4)  (©), (D), (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5330722020
Option 11D : 5330727861
Option 2 ID : 5330727862
Option 3 ID : 5330727863
Option 4 ID : 5330727864
Status : Answered
Chosen Option: 3




Q.140 As per classification of Mental Retardation based on what IQ score, a person is considered as
profoundly mentally retarded ?

(1) 50
2 20
(3) 35
4) 70

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 5330721994
Option 11D : 5330727757
Option 2 ID : 5330727758
Option 3 ID : 5330727759
Option 4 ID : 5330727760

Status : Answered

Chosen Option : 2

Comprehension:

Read the following passage and answer the questions.

Rusa Manjhi was a woman Panchayat worker of the Lahiripur Gram Panchayat in the
Sunderbans of West Bengal. She showcased the success of women power in rural development in
the 1980s. Rusa chose to be a Panchayat functionary as she knew it was the right forum to plan
programmes for women, address their needs and have them believe in taking hold on their lives.
Earlier, women in the Sunderbans had to depend entirely on the earnings of their men, most of
whom were engaged in fishing or collecting honey from the wild. The Panchayat Samitis in early
1980s introduced schemes Like DWCRA, TRYSEM and ICDS in the region. This lead to the
participation of women, especially the neo-literate and illiterate women, in entrepreneurial
programmes. Change was also apparent in the growth of social awareness about women’s rights.
Women came forward to fight their own battles regarding wife-beating, dowry, dessertion and
bigamy. Often husbands did not agree with wives becoming self-sufficient. However, the women
did not give up on their dream of self-empowerment.

SubQuestion No : 141
Q141 Wwhich one of the following PLA technique will be most suitable to locate and identify families
engaged in fishing ?
(1) Resource Inventory
(2) Transect Walk
(3) Venn Diagram
(4) Resource Map
Options 1. 1
2.2
3.3

4.4

Question Type : MCQ
Question ID : 5330722050
Option 1 ID : 5330727977
Option 2 ID : 5330727978
Option 3 ID : 5330727979
Option 4 ID : 5330727980

Status : Answered
Chosen Option: 1




Comprehension:

Read the following passage and answer the questions.

Rusa Manjhi was a woman Panchayat worker of the Lahiripur Gram Panchayat in the
Sunderbans of West Bengal. She showcased the success of women power in rural development in
the 1980s. Rusa chose to be a Panchayat fu_'ncﬁunary as she knew it was the right forum to plan
programmes for women, address their needs and have them believe in taking hold on their lives.
Earlier, women in the Sunderbans had to depend entirely on the earnings of their men, most of
whom were engaged in fishing or collecting honey from the wild. The Panchayat Samitis in early
1980s introduced schemes Like DWCRA, TRYSEM and ICDS in the region. This lead to the
participation of women, especially the neo-literate and illiterate women, in entrepreneurial
programmes. Change was also apparent in the growth of social awareness about women's rights.
Women came forward to fight their own battles regarding wife-beating, dowry, dessertion and
bigamy. Often husbands did not agree with wives becoming self-sufficient. However, the women
did not give up on their dream of self-empowerment.

SubQuestion No : 142

Q.142 . : ’
main earnings of the men in the Sunderbans was from ?
(1) Agriculture
(2) Floriculture
(3) Fishing
(4) Hunting
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status
Chosen Option :

McQ

5330722048
5330727969
5330727970
5330727971
5330727972

: Answered

3




Comprehension:

Read the following passage and answer the questions.

Rusa Manjhi was a woman Panchayat worker of the Lahiripur Gram Panchayat in the
Sunderbans of West Bengal. She showcased the success of women power in rural development in
the 1980s. Rusa chose to be a Panchayat fu_'ncﬁunary as she knew it was the right forum to plan
programmes for women, address their needs and have them believe in taking hold on their lives.
Earlier, women in the Sunderbans had to depend entirely on the earnings of their men, most of
whom were engaged in fishing or collecting honey from the wild. The Panchayat Samitis in early
1980s introduced schemes Like DWCRA, TRYSEM and ICDS in the region. This lead to the
participation of women, especially the neo-literate and illiterate women, in entrepreneurial
programmes. Change was also apparent in the growth of social awareness about women's rights.
Women came forward to fight their own battles regarding wife-beating, dowry, dessertion and
bigamy. Often husbands did not agree with wives becoming self-sufficient. However, the women
did not give up on their dream of self-empowerment.

SubQuestion No : 143

Q.143
What role did Rusa choose ?
(I) DWCRA functionary
(2) Panchayat functionary
(3) ICDS functionary
(4) TRYSEM functionary
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

MCQ
5330722047
5330727965
5330727966
5330727967
5330727968
Answered

2




Comprehension:

Read the following passage and answer the questions.

Rusa Manjhi was a woman Panchayat worker of the Lahiripur Gram Panchayat in the
Sunderbans of West Bengal. She showcased the success of women power in rural development in
the 1980s. Rusa chose to be a Panchayat fu_'ncﬁunary as she knew it was the right forum to plan
programmes for women, address their needs and have them believe in taking hold on their lives.
Earlier, women in the Sunderbans had to depend entirely on the earnings of their men, most of
whom were engaged in fishing or collecting honey from the wild. The Panchayat Samitis in early
1980s introduced schemes Like DWCRA, TRYSEM and ICDS in the region. This lead to the
participation of women, especially the neo-literate and illiterate women, in entrepreneurial
programmes. Change was also apparent in the growth of social awareness about women's rights.
Women came forward to fight their own battles regarding wife-beating, dowry, dessertion and
bigamy. Often husbands did not agree with wives becoming self-sufficient. However, the women
did not give up on their dream of self-empowerment.

SubQuestion No : 144

Q.144
To which state did Rusa Manjhi belong ?
(1) Jharkhand
(2) West Bengal
(3) Orissa
(4) Assam
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :
Chosen Option :

MCQ

: 5330722046

5330727961

: 5330727962

5330727963

: 5330727964

Answered
2




Comprehension:

Read the following passage and answer the questions.

Rusa Manjhi was a woman Panchayat worker of the Lahiripur Gram Panchayat in the
Sunderbans of West Bengal. She showcased the success of women power in rural development in
the 1980s. Rusa chose to be a Panchayat fu_'ncﬁunary as she knew it was the right forum to plan
programmes for women, address their needs and have them believe in taking hold on their lives.
Earlier, women in the Sunderbans had to depend entirely on the earnings of their men, most of
whom were engaged in fishing or collecting honey from the wild. The Panchayat Samitis in early
1980s introduced schemes Like DWCRA, TRYSEM and ICDS in the region. This lead to the
participation of women, especially the neo-literate and illiterate women, in entrepreneurial
programmes. Change was also apparent in the growth of social awareness about women's rights.
Women came forward to fight their own battles regarding wife-beating, dowry, dessertion and
bigamy. Often husbands did not agree with wives becoming self-sufficient. However, the women
did not give up on their dream of self-empowerment.

SubQuestion No : 145

Q145 Which Development Program was not introduced in the Sunderbans ?
(1) DWCRA
(2) TRYSEM
(3) ICDS
(4) Sukanya Samridhi Yojna
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

MCQ
5330722049
5330727973
5330727974
5330727975
5330727976
Answered

4




Comprehension:

Read the following passage and answer the questions.

FM radio stations, satellite radio and television channels are major avenues for the growth of

the music industry. Much of the programming on FM radio channels, like AIR's “Vividh Bharti’, is
dedicated to music, primarily to film music. This is equally true of round-the-clock music channels
on television. But besides the dedicated music channels, television programming on all ‘General
Entertainment Channels’ in the various Indian languages includes several music-based genres.
‘Talent Hunt’ programmes focused on singing, dancing and acting are based largely on Indian
film music. One of the channels organised a Talent Hunt programme called ‘Popstars” which
involved the nationwide search for a five member all-girl band of singers. Called ‘Viva’, the winning
band of girls released two albums. In a similar vein a music project called, “The Underground’ was
conducted by Saregama India in Mumbai, Delhi and Kolkata in 1980 to select 30 music performers
(Bands, Artistes and D]Js).

SubQuestion No : 146

The full form of GEC is :

Q.146

(1)
(2)
(3)
(4)

3.3
4.4

Generic Flectric Channels
Generic Editing Channels
General Entertainment Channels
General Educational Channels

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ
5330722052
5330727981
5330727982
5330727983
5330727984
Answered

3




Q.147

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status:

Chosen Option :

Comprehension:

Read the following passage and answer the questions.

FM radio stations, satellite radio and television channels are major avenues for the growth of
the music industry. Much of the programming on FM radio channels, like AIR's “Vividh Bharti’, is
dedicated to music, primarily to film music. This is equally true of round-the-clock music channels
on television. But besides the dedicated music channels, television programming on all ‘General
Entertainment Channels’ in the various Indian languages includes several music-based genres.
‘Talent Hunt’ programmes focused on singing, dancing and acting are based largely on Indian
film music. One of the channels organised a Talent Hunt programme called ‘Popstars” which
involved the nationwide search for a five member all-girl band of singers. Called ‘Viva’, the winning
band of girls released two albums. In a similar vein a music project called, ‘The Underground’ was
conducted by Saregama India in Mumbai, Delhi and Kolkata in 1980 to select 30 music performers
(Bands, Artistes and D]Js).

SubQuestion No : 147

AlIR’s "Vividh Bharati’ is dedicated primarily to ?
(I) News

(2) Film Music

(3) Talent Hunt

(4) Documentary

MCQ
5330722055
5330727993
5330727994
5330727995
5330727996
Answered

2




Q.148

(1) Allgirls
(2) Al Women
(3)  All boys
(4)  All men
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

Comprehension:

Read the following passage and answer the questions.

FM radio stations, satellite radio and television channels are major avenues for the growth of
the music industry. Much of the programming on FM radio channels, like AIR's “Vividh Bharti’, is
dedicated to music, primarily to film music. This is equally true of round-the-clock music channels
on television. But besides the dedicated music channels, television programming on all ‘General
Entertainment Channels’ in the various Indian languages includes several music-based genres.
‘Talent Hunt’ programmes focused on singing, dancing and acting are based largely on Indian
film music. One of the channels organised a Talent Hunt programme called ’Pnpstars' which
involved the nationwide search for a five member all-girl band of singers. Called ‘Viva’, the winning
band of girls released two albums. In a similar vein a music project called, “The Underground’ was
conducted by Saregama India in Mumbai, Delhi and Kolkata in 1980 to select 30 music performers
(Bands, Artistes and D]Js).

SubQuestion No : 148

‘Popstar” Talent Hunt programme involved the national wide search for a five member band of
singers that included :

MCQ
5330722053
5330727985
5330727986
5330727987
5330727988
Answered

1




Q.149

Comprehension:

Read the following passage and answer the questions.

FM radio stations, satellite radio and television channels are major avenues for the growth of

the music industry. Much of the programming on FM radio channels, like AIR's “Vividh Bharti’, is
dedicated to music, primarily to film music. This is equally true of round-the-clock music channels
on television. But besides the dedicated music channels, television programming on all ‘General
Entertainment Channels’ in the various Indian languages includes several music-based genres.
‘Talent Hunt’ programmes focused on singing, dancing and acting are based largely on Indian
film music. One of the channels organised a Talent Hunt programme called ’Pnpstars' which
involved the nationwide search for a five member all-girl band of singers. Called ‘Viva’, the winning
band of girls released two albums. In a similar vein a music project called, “The Underground’ was
conducted by Saregama India in Mumbai, Delhi and Kolkata in 1980 to select 30 music performers
(Bands, Artistes and D]Js).

SubQuestion No : 149

Which of the following is not a music based programme ?

—— — —
= L B =
T o o

Options 1. 1

2.2
3.3
4.4

Talent Hunt
The Underground

Popstar
Shark Tank

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ
5330722054
5330727989
5330727990
5330727991
5330727992
Answered

4




Comprehension:

Read the following passage and answer the questions.

FM radio stations, satellite radio and television channels are major avenues for the growth of

the music industry. Much of the programming on FM radio channels, like AIR's “Vividh Bharti’, is
dedicated to music, primarily to film music. This is equally true of round-the-clock music channels
on television. But besides the dedicated music channels, television programming on all ‘General
Entertainment Channels’ in the various Indian languages includes several music-based genres.
‘Talent Hunt’ programmes focused on singing, dancing and acting are based largely on Indian
film music. One of the channels organised a Talent Hunt programme called ‘Popstars” which
involved the nationwide search for a five member all-girl band of singers. Called ‘Viva’, the winning
band of girls released two albums. In a similar vein a music project called, ‘The Underground’ was
conducted by Saregama India in Mumbai, Delhi and Kolkata in 1980 to select 30 music performers
(Bands, Artistes and D]Js).

SubQuestion No : 150

Q.150
)

—

2)
3)
1)

Options 1. 1
2.2
3.3
4.4

In which one of the fDl.luwi.ng cities, Saregama Production did not introduce a music project ?

Delhi
Mumbai
Chennai
Kolkata

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
5330722056
5330727997
5330727998
5330727999
5330728000
Answered

3




